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=21"—9x—2
& (1) 4da+4b (2) 8x+6y
(3) 5x+9y (4) —2*+z2—1

(5) 8¢°—4a—6 (6) 22" —9x—2

03 1) —6a’+3ab
2)5x"—10xy
3)122"y —8xy’+20xy
4)12a"—2ab

5) —15a°+3ab—6a
6)xy — 3y +4y

(
(
(
(
(
(

62’y +9xy’ —3xy

04 3y

(3) ol 4)=

_ dxy
3xy

6.;-:3,( 4+ 92y 9xy
3xry 3xy

=2r+3y—1

(4) (501 A)=(8x"y—6xy”) X w

=16x—12y

Oy



06

07

(5) (G012l A= (22" + 52y —10xy”) * %

%x+4y—8y2

(6) ROl Al A)= (40’6 —2ab*+a) X (— %)
=—8ab’+4b*—2
& (1)6+2¢ (2) 3a°+b
(3)2x+3y—1 (4)162—12y

(5) S-z+4y—84° (6)

(8) ol 4=~
=(5z+y) xXxy
=52"y+xy’
6ab Qb

X Ty

_ 2ab—d’
a

(4) Geol2l A)=

=2a—3b—2b+a
=3a—5b
2.2
(5) Geol2l 4)=2a(ay—2) — SLL_AT
=2x'y—dr—4x'y+2x
=—2r'y—2x
(6) (o171 4D

= (54'6'—2a'b") X —— —2abx 3a

ab
=5a’b—2a’b"—6a’b
=—2a'b"—a’b
(7) (G012 4]

=(6xy+4x’y) X 20+ (82y"—12zy°) % 4—2
=122"y+8x'y+ 22"y —3x"y
=10x"y+9x"y

(8) (FFo1 7 4]

=(3x’y—9zy) x L — (2zy+y) x (—6y)

3x
=ay*—3y° + 122y + 61"
=13xy°+3y°
A1) —2x (2) —x"—6x
(3)5xy +xy’ {4)3a 5b
(5) —2x'y—2x (6)—
(7)102°y+9x"y (8)13xy"+ 3y

(Frol# A)=
_ 4a—3b—4a+2b+4b

4a—3b—2(2a—b) +4b
4

(FFolA A)=—a—5b—4—2a+3b+6
=—3a—2b+2

92 SOLUTION

—8ab’++4b*—

: 806

BOX

o 2xte] A+ F&
M= I SS7K| E%*.GJEL

o IHENG — 25 — T,
r‘j—:)dl — E—IMI HHH_MID _i_
ME HAEi),

08

09

10

1

12

13

14

15

16

web 59) At
—242= 0

—2, 4 zoluz
®

= 1= 1 2 1 5
A A==zt y—=a+-=>
( . —D 4I 3y EI Gy

_ 1.3
= 4.r+2y

1,3
[= - =
1Lty

(FoAH A)=22"—6x—1—62"+62—8

=—47"—9 B®

(#F8)=—6x"—22—1
web] a=—6, b=—2, c=—10]22

a—b—c=-—3 & -3

2 o 2 e
ol 4= 20 —5et2=2a —5a—3)

_ 3¢°—5a+2—2a’+10a+6
- 4

1 2.5
—4a+4a+2

web] @*9) A4k -, a0 AdE Soluz
1 5 3
Tt 85

Gl A)=6a— (3b+2a—2b—5¢)

=6a—2a—b+5¢
=4a—b+5¢ B 4a—b+5¢
(G013 4))
=3a"—[5+2a— (4a’—1—2a—"7a) —54")
=3a¢"— (5+2a—4a’+9a+1—5a")
=3a"+9a"—11a—6
=124°—1la—6 B85
(Foldl A)=3x"—9x"—3z
webr] 279 Al —9, 9] Ales —30|BR
—9+(—3)=—12 Bo

@ —ay(xr—4y—5)=—2'y+4xy +5zy
B®

(Fo2 A)=(xr—2y+3) x (—8xy)
=—8x'y+16xy"—24xy
B —8x'y+16xy —24xy



BOX

17

18

19

20

22

23

24

B®

() = — 8x'y+6x"y"—10x"y

—2x'y
=4xr—3y+5
ks g=4, b=—3, ¢=50|2%
atb+c=6 ®

(ol A= (302"y — 18y +62y°) X 2=

=5xy°—3y"+v’
& sz —3y +y"

[ |=—ax+5y—7—(—3z+2y—2)
=—x+by—T7+3x—2y+2
=2x+3y—>5

B 2zx+3y—5

=—18x"+32"—9x"y

B3
20x|  |=62"4+8xr—(—4x’+12z)
=6x"+8x+4xr"—12x
=10z —4x
S )=0102—4x) w22
_ 102" —dx
2r
=bxr—2
& 5x—2

ojf A5 AR Fod
A—(32°+5x—2)=—22"—x+3
LA=—22"—x+3+ (327 +52—2)
=x"+4r+1
wheha] up2 7] Alakgh g2
2’ +ar+1+(32°+55—2)

=4x"+9x—1 5 ®

ofd A& Az Fow
A+({—x+3y+2)=2x+y+7
SCA=224y+T—(—x+3y+2)

=3x—2y+5

wkepa] vl=A] AR
3r—2y+5—(—x+3y+2)=4r—5y+3

olB & a=4, b=—5, ¢=3
Soa—b—c=6

B s

o LitE Ao B4 20|

o
%ol HOR HIRD &
OHEISIE OIBBICY.

. "'D%AZB

=[x =B
= [ |=BxA

(2ol o) .

= X (250]) x (500)

25

26

27

28

29

30

31

oj" A& A& oW
Ax(—2ab)=16a"b'—124'b'+8a"b"
S A=(16a"0"—12a°0°+8a°h") + (—2ab)

_ 164’ —12a°b"+ 84’
—2ab

=—8a’b+6ab’—4dab
upehA] v A A4S T
(—8a’b+6ab”—4ab) +(—2ab)
—8a’b+6ab’—4ab

—2ab
=da—3b+2 B 4a—3b+2
(Goi) =120 =8ah _(j_50)x3p
=6b"—4ab—3b"+9ab
=3b"+5ab @
(GFolal A)=oz(52—1)+ 1AL 6L
—iX
=10z —2x—7x'—3x
=31 —5x
A g=3, b=—50]12
a—b=8 3

(-ZL]'E}'I)ZQI{%.?S—Z)—FM

y
=3z —18x+2x +10x
=57"—8x
we}i] A=5 B=—8o|ug
A+B=-3 8@
(Folzl 4)

l)_ 27y —12xy

=(152"—20xy) x(— = 3

=—6xr+8y—9y+4x

=—2x—y & —2x—y

(Rm))= % X 7% (3a’b)* % (a—b)

=37a°b—3ra'b’

B®

(% X 60 % 52) x (30])=214%"—6ab’o| 2.3

(%ol)z(zla%z—sab%(% X 6a><b2)
=(21a’t’—6ab’) +3ab’
_ 21a’b’—6ab’
3ab’
=Tab—2 B 7ab—2

Ol



32 L x(S19) 2o)+64%) X ab=3a"b*+4a’t’

2
ol
(side] Zo))+64°b
=(3a'b*+4ab’) + % ~a’b
= (3a'D*+4a%D°) % 2 ﬁ
=6ah*+8b'
(S e Zlo))=(6a°b"+8b') —6a’b’

=8b' E 8b'

33 B&(1)—2 2, —22+zx+1
(2)8, 2, 3, 8a¢"—10ab—3b°

ab—4a+b—4
4xy—+bxr—8y—10
2x"+Txy+3y°
25a°—15ab+2b"

1

e
[a)
— e

35 (1)(3a—4b)(2a—b+1)
=6a"—3ab+3a—8ab+4b"—4b
=6a"—11ab+4b +3a—4b
(2)(224+3)(x—y+4)
=2x"—2xy+8x+3xr—3y+12
=2"—2xy+11r—3y+12
(3) (a—3b+3)(—a+5)
=—a’'+5a+3ab—15b—3a+15
=—a’+3ab+2a—15b+15
@ (1) 6a°—11ab+4b"+3a—4b
(2) 22" —2xy+11x—3y+12
(3) —a’+3ab+2a—15b+15

36 Bz, 5 £+10x+25
3 1
— 2 ¢ —
(2) 3a, 3 9a°+2a+ 5
(3) 4z, 4z, 162"+ 24zy+9y°

1y = 1 14

37 (3)(I+I) =X +2X.}3XE+(I)
eyl 1
—.r+2x+ 16

(4) (a+6b)'=a"+2xax6b+(6b)°

=a*+12ab+ 360"
1 (1Y 1
(5)(2x+y) —( 2x) +2XGuXy+y
=%x?—|—.;cy—|—y2

2

{6}(6.}:—!—%@;) (62)"+2%6xx %y+(%y)2

=36x"+8xy+ %yg

94 SsoLUTION

BOX

(a—b)'=a"—2ab+b

o (a+b)lc+d)
=ac+ad+bc+bd

o SHIHAE 0IZ5I0 EH
ot = SRVR| ALt

(at+b)(a—b)
=i =W

(—a—b)la—h)
=—a'+b

—elatb)y=a+2ab+¥b

(1) a*+6a+9 (2) 4a”+20a+25
(3) .:-:Q—i—%x—l—% (4) &+ 12ab+365*

6) Lty st (6)362'+8ay+ 5

38 B (e, 3, ’—6a+9

3 2 9
(2) 2, o da'—6r+

1 2 1,2
(3) 3, gb, 9 —2ab+§b

39 (3)(6&—%}22(Ga}a—zxﬁax%+(%)z

:36a2—20a+%

(4) (4a—b)°=(4a)*—2xdax b+’
=16a"—8ab+b’
(5) (5x—2y)*=(5x)'—2 x5 % 2y+(2y)*
=25x"—20xy+4y°

1. 2 L 2_ L , 2
(6)(§:c 2y) —(33:) 2x L2 x 29+ (2y)
_1 2 4 2
e 3.ry+4y
B (1) —4x+4 (2)9x"—6x+1

(3) 364°—20a +%5 (4) 164" —8ab+- b’

1 . 4

(5) 252" — 202y +4y* (6}3 “—?xy—i—ciyz

40 B (1)a, a—25 (2)2, 9x"—4
(3) %, 4a2—%
(3)( —2x—>5y) (2x—>5y)

=—(2x+5y)(2x—5y)
=—{(2z)"—(59)")
=—(4x’—25¢")
= — 45+ 250

B (1) —4

(3) 4" +25" (4)92"— 4’

(2)16a"—1

6) 52"~y (6)4a’— b’

(3x+2y) (4dx—y)=12x"—3xy +8xy—2v°

=122"+5xy—2y°

oA A=12, B=5 C=—20]8&
A—B—-C=9

42

E o

(Ta+b)(—a+2b)=—7a"+14ab—ab+2b°
=—7a°+13ab+ 20

43

8@

(r—4y+1)(2x—3y)
=2z"—3xy—8xy+12y°+2x—3y
=2¢"—1lxy+12y°+2x—3y



BOX

45

47

49

50

51

52

53

kb py o] Al —11, o] Al —30]82

—11+(—3)=—14 —14
(22+3) (2" +ax—4)
=2x"+2ax"—8x+3x"+3ar—12
=22"+ (2a+3) 2"+ (3a—8)x—12
olo®  e_s=7  a=15
S.a=h E @
(2x+7)'=4x’+28x+49
ks g=4, b=280|=
b—a=24 53
3 1 V9 . 1
(?:c-l—gy) =4 -|—:.~:y—|—§
wfebd oye] A1, ') At Lolng
1_10 10
1+5=7 B3
(x—AY'=xr"—24Ax+ A’=x"— Bx+16°|82

—2A=—-B, A’=16
S A=4 (0 A>0), B=8

S A+B=12 B8
@(%x—%y)?%f—2w+%y2 ®

(Aa:—2)3=A2x2—4A;c+4:%x3+Bx+4

oEE A=y, —4A=B

a1 4
..A_B(.A>0),B— 3

A—Bz% @
Gl A)=4r'—y* — (252" —4y°)
=—21x"+ 3y —21x"+3y°

(x+y)(z—y)=2"—y°
O (x+y)(y—a)=y"—2
@(—z+y)(x—y)=—(z—y)’

=—2'+ 22—y’
@ (zty)(—z—y)=—(z+y)’
=—z'—2xy—y’
@ (x—y)(—x—y)=—(z—y) (x+y)
:y'—xg

B (—x+y)(—z—y)=x'—y
kA (z+y) (x—y) < 27 A0] 7He 21 (B
o}, B6

(x—2)(z+2) (" +4)=(2"—4) (2" +4)

e EE e

2rx(—4)+3xax
=(3a—8)x

(x+a)(x+b)
=z'+{at+b)x+tab

(ax+b)cx+d)
=acx + (ad +bc)x+bd

29| HF] At
(a+b)'=d"+2ab+b*
=
(a—b)'=da"—2ab+b"
2 0|&sit,

o () —4=zx"-16

54

55

56

57

58

59

60

61

(3r—y) (3x+y) (92" +y°)
=(92"—y") (92" +¥)
=81z —y'
whehA] @ =81, b=40|0 &
a—b=77 =Hivid
& ()7, 2, £+9r+14
(2)4, —3, ¥+xr—12
3 3 3
{3)—?, o a —Zd‘l‘T
_1 AN e [ 1) 4] 4
(5)(“ 3)(‘”3) “ +[( 3)+3]“’ 9
=a2+a—%

(6) (5—2)(5—%)2524- [ (—2) +(—%)]b+5

2 9
=b 25+5
B ()" +4e+3  (2)2°+20—24
(3)y'—Ty+10 (4)y"+4y—21
(5)a2+.ar—i (6}5’3—.3%5
9 2
E(1)5, 3 (2)3, 12 (3)8, 14
(4)6, 18 (5)7, 11
(1)3, 1, 3, 2, 32" +7x+2
(2)8, —5, —3, 15, 8a°—26a+15
1 5,2 501 e,
(3) 30 2 5, 12, gytly—12

6)(2a+3)(Za+8)

=L+ (3xs+3xL)rtas
=L ertod

(6)(29—%) (4y—1)

=8y’ + {2 x(—1) +(— Z) x 4}y+ Z

—8y"— 165+
@ (122" +132+6  (2)62°—222+20
(3)12¢°—5a—3  (4)64°—19a+10
(5)%.1:24—8.1:—!—24 (6)8y2—16y+%
(1)1, 15 (2)3, 5 (3)4, 10, 3
(4)6, 3 (5)1, 4

(1) 48°=(50—2)"
=50"—2x 50X 2+2°
=2304

(2) 57°=(60—3)"
=60"—2 % 60X 343
=3249

Ol



BOX

63

65

66

67

96

(3) 104°=(100+4)°
=100"+2 % 100 X 4+4
=10816
(4) 81°=(80+1)"
=80°+2 % 80 % 1+1*
=6561
(5) 9.9°=(10—0.1)"
=10"—2x10x%0.14+0.1°
=98.01
= (1) 2304 (2) 3249
(4) 6561 (5) 98,01

(3) 10816

(1)53 % 47=(50+3)(50—3)
=50"—3'=2491

(2)105 % 95=(100+5) (100—5)
=100"—5"=9975

(3)3.1x2.9=(3+0.1)(3—0.1)
=3"—0.1"=8,99

(4)61x63=(60+1)(60+3)
=60"4+(1+3) x60+3
=3843

(5)99 x 102=(100—1) (100+2)
=100°+ (—1+2) x 100—2
=10098

& (1)2491 (2)9975 (3)8.99
(4)3843 (5)10098

(.1:—3)(.14—%):.172—%.9:—%
uebd 29 ASE 3, 45Pe —Jolne

Higee @o

(x+a)(x_5):x2+(a_5)x_5a

=2 —2x+b
ojHE  g—5=—2 —5a=b
Soa=3, b=—15
Soa—b=18 ®
(FolA A)=z*+92+20+2"—32—18
=2x"+6x+2 & 227+ 6x+2
(3z+1)(xr—4)=32"—11lxr—4
whbA] =3, b=—11, ¢c=—40|0&
a—b+c=10 EH RO
(—2x+A)(5x+2)
=—10"+(—4+5A4)x+2A4
=—10x"+11x+ B
olmg  —4454=11, 24=R8
. A=3, B=6
. B—A=3 B®
SOLUTION

o & 0| ZOo| Apt
(at+b)la—b)=a"—b
H=

(x4allx+b)
=x'+(a+b)x+ab
£ 0|Es&ich

(ZlApztol o)
=(71=29] Zol)
x (M=z2] Zlol)

- 23101 2t
2 MM 3 SRATE

L ]

!

Okl

>

- Mo
=]

68

69

70

7

72

73

75

76

77

78

GOl A)=102"+2—3— (122" — 112 +2)
=—21'+122x—5
B —2x+12x—5

FoAA A)=2"+14z+40+z°—14x+49
=22°489 B 2x°+89

(Zo| A A)=252"— 202 +4—3(42°—1)

=13z"—20x+7 B
(x—3)(x+a)=2"+(—3+a)x—3a
=x'+bxr—27
olug  —3+4aq=b, —3a=—27
Coa=9, b=6
Soa—b=3 3

(22—3)(x+A)=22"+(2A—3)x—3A
=2x"—9x+B
olmg 24-3=-9, —3A=B
S A=—3, B=9
LA+ B=6 &6

(z4+4)(2+2)=2"+62+8 @
(5a—2b)(4a—b)+2bxb
=20a"—13ab—+2b"+ 20"

=20a"—13ab+4b" 8o

wol ol 92 77 e
o g wre go
oppomz 52
(8x—3)(5xr—3)
=402°—392+9

& 40x*—39x+9

Adlel)
=20(x+3)(2x—1)+(22—1) (x+2)
+(x+3)(x+2))
=2{(22"+5x—3)+ (22" +32—2)
+(x*+5x+6))
=2(52"+13x+1)
=10x"+26x+2
10x°+262+2

9.5'=(10—0.5)"
=10"—2x10%0,5+0.5

=90.25 & 90.25

62°+ 58
=(60+2)"+(60—2)°
=60"+2%60x24+2°+60"—2x 60 x2+2°
=7208 @



BOX

79

80

81

82

83

(2)—A+58=—(.r—2y)+5(3.r+5y)
=14x+27y
(3)3A—4B=3(x—2y)—4(3x+5y)
= —9r— 26y
(4)(A+2B)—(B—A)=2A+B
=2(x—2y)+ (3x+5y)
=bxr+ty
(5)3(A—B)+4A—B=7A—4B
=7(z—2y)—4(3x+5y)
= —bx— 34y
2 (1) 4x+3y (2) 14x+27y (3) —9x— 26y
(4) 524y (5) —bx—34y
(2)20=—3y+50|92 z=—3y+>
(3)3zx=—y+120]02 2= —%y—f—tl
B (1) z=4y—1 () 2=—5y+5
(3) x——%y+4
S o (
(2)a—b=2co)lB2  g=2c+b
(3)x—y+6=2xr—dyo|E&
Jy=x—=6 yzé.r—z
(4) 6b=5¢0| B bz%a
B (1) x=3y—5 (20 a=2c+b
(3)y=%x—2 (4) bz%a

85

94x99=(100—6)(100—1) = (x+a)(z+b)
8@
2017x2019+1 _ (2018—1)(2018+1)+1
2018 2018
_ 2018°—1+1
2018
=2018 & 2018
(4)50—2y+1=5x—2(4x—2)+1
=—3x+5
(5)2({x—y)—5(x—2y)=—3x+8y
=—3r+8(4r—2)
=29r—16
B (1) 9x—4 (2) —x+2 (3) 162—6

(4) —32+5 (5) 29x—16

6xr—3y=>5r+y—2% ro tjste] =4
r=4y—2
(1) z+y=(4y—2) +y=>5y—2
(2) —3x+Ty—2=—3(dy—2)+Ty—2
=—5y+4

e 3(A—B)+4A—B
=3A—3B+44A—B
=7A—4B

] etef 2xh)
=(CH2 Ao chet 4)
oz LiEtict

° ?;Oil IlHaf Ao2 LIEHLH
._ E HAOHOF OI'DE ‘I‘O'i
SHE x0 thsto] 2ok

alb=c:d
= ad =bc

86

87

88

89

90

7

(3) 5(x—y)+3(x+3y)
=8x+4y
=8(4dy—2)+4y
=36y—16
(1) 5y—2 (2) —5y+4 (3) 36y—16

(1) @*+b=(a—b)+2ab
=2" 42X 8=2(
(2) @*+b'=(a+b)'—2ab
=3"—2x(—5)=19
(3) (a+b)’=(a—b)+4ab
=(—3)"+4x4=25
(4) (a—b)"=(a+b)'—4ab
=(—4)"—4x(—12)=64
(1) 20 (2) 19 (3) 25 (4) 64
(1) '+ ;3 =(a+%)2—2—6 —9=34
(2) a2+%:(a—%)z+z:4f+z:18
0o -{or - 1~(3) -3
(4) (a-f—%)z:(a %)#4 7'4+4=53
B (1) 34 (2) 18 (3) % (4) 53

4A—{3A—(A+B)}=4A—(2A—B)
=2A+B
=2(x—2y)+(2x—y)
=d4z—5y B3
r—xy+1=(2y—5)"— (2y—5)y+1
=4y’ —20y+25—2y°+5y+1
=2y"—15y+26
ulehA y o] Alg —15, AHEghe 260 B
—15+26=11 53
6(A+3B)—2B=6A+16B
_of 2y . 2xr—3y
_e( . )+1b( . )
=3x+6y+8xr—12y
=1lx—6y Bl 11x—6y
28 E
@ h== @ m= =z
® a=2M—b @F_% C+45) @@
2(22—3y)=x+2y—30| B2
dr—6y=x+2y—3, 3r=8y—3
_8 _8
r=—y 1 & x 3V 1

Ol



BOX

93

94

95

96
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